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QUESTION 1

You are a data scientist working for a utilities company. You have developed an algorith that detects anomalies from a
utility reader in the grid. The size of the model artifact is about 2 GB, and you are trying to store it in the model catalog.
Which THREE interfaces would you use to save the model artifact into the model catalog?

A. Console

B. Accelerated Data Science (ADS) Software Development Kit (SDK)

C. Oracle Cloud Infrastructure (OCI) Command Line Interface (CLI)

D. OCI Python SDK

E. Git CLI

F. ODSC CLI

Correct Answer: ABD

QUESTION 2

You have a data set with fewer than 1000 observations, and you are using Oracle AutoML to build a classifier. While
visualizing the results of each stage of the Oracle AutoML pipeline, you notice that no visualization has been generated
for one of the stages. Which stage is not visualized?

A. Feature selection

B. Algorithm selection

C. Adaptive sampling

D. Hyperparameter tuning

Correct Answer: C

QUESTION 3

You want to write a Python script to create a collection of different projects for your data sci-ence team. Which Oracle
Cloud Infrastructure (OCI) Data Science Interface would you use?

A. Programming Language Software Development Kit (SDK)
B. Mobile App

C. Command Line Interface (CLI)

D. OCI Console

Correct Answer: A
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QUESTION 4

Using Oracle AutoML, you are tuning hyperparameters on a supported model class and have specified a time budget.
AutoML terminates computation once the time budget is exhausted. What would you expect AutoML to return in case
the time budget is exhausted before hy-perparameter tuning is completed?

A. A hyperparameter configuration with a minimum learning rate is returned.

B. The current best-known hyperparameter configuration is returned.

C. A random hyperparameter configuration is returned.

D. The last generated hyperparameter configuration is returned.

Correct Answer: B

QUESTION 5

As a data scientist, you are working on a global health data set that has data from more than 50 countries. You want to
encode three features, such as \\'countries\\', \\'race\\', and \\'body organ\\' as categories. Which option would you use to
encode the categorical feature?

A. DataFramLabelEncode()

B. auto_transform()

C. OneHotEncoder()

D. show_in_notebook()

Correct Answer: A
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